
25 Sections Crew Tasks Movement Gunnery & Marine Fire
MOVE PHASE Rigging Hull Crew Prior G-t Current G-t Marine

Fire1 2 3 4 1 2 3 4 S1 S2 S3 S4 M CQ S1 S2 S3 S4 M S1 S2 S3 S4 M BSS WF MA Plot Move ESS Selection Target P/S Rng Aim BGN SoM MGN CH? Notes

BRITISH
C FF FF Y
C RR X RR no
D X X X X no
D RO X RO RR no
C RR RR no
C MS no

C RR RR no
B RR RR no
C RR RH
C RH RH no
D RR X RR no
D FF FF no
C X no
E MF X X MF no

C FF FF no
D RR RR no
C FF no
C
C mf mf no
C X RR X RR

FRENCH
D FS X RR Y
C FS FF Y
C FF FF no
C RR RR no
C FS no
C FF FF no

D RR X MS RR no
C no
C FF
D RR Y
G
C RR no

E X X X mf no
B FF X FS no
C RR RR
C RR RR no
C FF FF
E FF FF no
D X X mf X X RO mf

Alfred
Belliqueux
Invincible

BARFLEUR
Monarch
Centaur

America
Resolution

Prudent
Bedford

LONDON
Royal Oak

Montagu
Europe

Terrible
Ajax

PRINCESSA
Alcide

Intrepid
Shrewsbury

Pluton
Bourgogne

Réfléchi
AUGUSTE

Scipion
Hercule

Sceptre
Northumberland
VILLE de PARIS

Saint-Esprit
Solitaire
Citoyen

Conquérant
Jason

Ardent
DUC de B.

Eveillé
Provence
Neptune

FS 25 FS 2 P FS PLU P 6 L 20 - 20 -
FS 25 FS 1 FS REF P 4 L 21 -4 17 -
FS 25 FS 0 FS SCIP P 5 L 22 -19 3 -
FS 25 FS 1 P 1 FS HERC P 3 L 26 -4 22 -
FS 25 P 1 FS Closest (Low) PLU P 6 L 20 -7 13 -
MS 25 M 2 P 2 Pass! MS BOURG S 4 L 23 1 24 -

FS 25 FS P 1 Pass! FS AUG S 4 L 21 -2 19 -
FS 25 FS S Fail:  1 FS NEP S 3 L 24 4 28 -
FS 25 FS (L) 2 FS (no target) - - -
FS 25 FS 2 FS Closest (Low) NEP P 5 L 22 -9 13 -
FS 25 FS (R) 2 FS STE P 4 L 25 -18 7 -
FS 25 (R) 3 FS JASON S 2 L 25 3 28 no
FS 25 0 FS CONQ S 1 L 26 -7 19 Y: -1m
FS 25 FS 0 FS NORTH P 1 L 24 -15 9 Y: -1s

MS 25 MS (L) 4 MS CONQ P 5 L 22 1 23 -
FS 25 S FS ARD P 5 L 21 -5 16 -
MS 25 MS 5 MS JASON P 2 L 24 -7 17 -
MS 25 (L) 4 MS (no target) -2 - -
FS 25 (R) FS CONQ S 1 L 24 4 28 Y: miss
FS 25 FS P 2 FS (no target) -12 - -

FS 25 1 FS CEN P 5 L 23 -6 17 -
FS 25 FS 3 FS BELL S 5 L 23 1 24 -
FS 25 FS 2 FS BELL S 4 L 20 - 20 -
FS 25 FS 2 FS AMER S 4 L 26 - 26 -
MS 25 MS 0 FS Closest (Low) CEN P 2 L 26 -8 18 -
FS 25 FS 1 P overlap > "1" FS BELL S 4 L 24 -8 16 -

FS 25 2 S 2 FS ALF P 5 L 23 -6 17 -
FS 25 FS 1 (L) Illegal > "1" FS EUR S 1 L 27 - 27 Y: -1s
MS 25 2 S 3 MS (notarget) - -
FS 25 FS P 2 FS LONDON S 4 L 26 -4 22 -
Dis 25 Dis - -
FS 25 FS 1 S 2 FS BAR P 6 L 21 -8 13 -

FS 25 FS 1 FS MGU P 1 L 27 -18 9 Y: miss
MS 25 MS 4 FS ROAK P 2 L 22 -4 18 -
FS 25 FS 0 FS (notarget) - -
FS 25 FS S FS ROAK S 4 L 24 - 24
FS 25 1 S FS (notarget) 1 -
MS 25 P 2 MS LONDON S 4 L 20 -2 18 no

Selected (Writ
Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 

Best (Lo>Hi) - 

Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 

Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 

Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 

Best (Lo>Hi) - 
Best (Lo>Hi) - 
Selected (Writ
Best (Lo>Hi) - 

Best (Lo>Hi) - 

Best (Lo>Hi) - 
Selected (Writ
Best (Lo>Hi) - 
Best (Lo>Hi) - 

Best (Lo>Hi) - 

Best (Lo>Hi) - 
Best (Lo>Hi) - 
Selected (Writ
Best (Lo>Hi) - 
Best (Lo>Hi) - 
Best (Lo>Hi) - 

23 25 23 23
14 17 21 22 17 20 21 17 21 22
21 24 24

18 24

16 21
14 14 15
18 21 25 18 21 24 20 25

21 21 24 23
17 21 22 19 22 20 24

17 18 17 19

20
14 19
13 15 13 15 17

22 24 24 24

23

17
24

22 22

18
16 17 18 19 16 17 18 19 17 19

21 23 17 23 25 21 24
21 25 23 22

22 21
17 22 17 22 19 22 25

R2= r05 LJ (ignore)

CH= GDp-2 

 

R3= LJ (ignore)   ||   S2=  2MC  ||   CH= h06 -1h   ||  2MC= ++.

stn rake= double crew hits

 CH= r06 op-2 > immediately cleared: no effect

H1= h09 GDs-2  MC  ||   1MC= +.

 Could only accelerate to "1" due to blocked wind.

H3= / h09 GDp-2 GDs-2 / h08 GDp-1 GDs-1  2MC  ||  2MC= ++.


